PORT. shager

Product Environmental Profile
Socket 45x45 DIN Rail Housing ADA916D tw

Company information References covered
Hager GKEV02029016, GKEV02029011, GKEV0202LAN, GKEV02SET19016, GKEV02SET29016,
132 Boulevard d'Europe GKEV02SET39016, B46128000

F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Protect the installation from overloads and short circuits in a circuit with rated voltage 240V, rated current 16A,
GKEVO02SET19016 with 1P+ N, a rated breaking capacity 6kA, and the tripping curve B, the sensitivity 30mA, and the differential
protection type A in the Household/Commercial application area, according to the appropriate use scenario,

and during the reference service life of the product of 20 years.
Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
Circuit-breakers product.

PEP ecopassport 1/5 HAGE-01379-V01.01-EN



Materials and

substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Others
%

PC 75.23 19.1% Copper 49.65 12.6% Cardboard 28.37 7.2%
PAG6 35.95 9.1% Steel 47.72 12.1% Talc 16.57 4.2%

PC 26.66 6.8% Brass 16.11 4.1% Other 10.59 2.7%
PE-LD 8.56 2.2% Steel 13.35 3.4% Wood 9.28 2.4%
PVC 4.00 1.0% Cast iron 5.85 1.5% Calcium Carbonate 6.64 1.7%
Other 2.43 0.6% Other Other

PEP ecopassport

Total m.ass of reference product with raw material 393.05 g
packaging :

Total mass of reference product 371339

(Product + packaging)

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D

j=2)

£
= © 7
o o > 2
c 3 £ 2 o 8 ]
S k3] < c - B = 2 22 g
= & S S °3 S 3 o ] o S
g2 5 =) o ® c® ST " = 2w o c = <} ®3
=G g < = S =5 3] S < f=i-] 2o S e L e S 2

< @ < = S o c o T 2 c = o o T8 c g = = E o ® ] =
° 8 £ 2 So S o o= & = & 5 =] o B kS 55 < > & o £
8| 2 | & S5 g2 55 | § g | 8 S |8 | 5s| = | 88| 25| ¢ 58
= O E= = 2 =2 Q > = (7] I = = 0 = 0 © Q= 5 > %) 0n =
T 5 S =) T O L= £ 14 - ? 23 5 3 c S o 3 A £ 0
= Q c = 8 prinst = O T [ ] = E= T Q = 3 a =

S5 = ] 2 & 2 & 5 = o 4 o2 ge 7} 7} S @ TR
Es| % = 2l £3 o 2 = 4 cs @S a) Fg g e =

n 2 5 s o
% & 2 2 =) = ] o ) @2
& 4] s £ 2 T < = S
[ w = == >
= @ o

k]

B3 B4

Life cycle stages

Distribution

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

Manufacturing

These products are manufactured by a site that has received an environmental certification
ISO 14001.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase takes into account raw materials, manufacturing processes, production offcuts
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the
manufacturing site, and transport from the manufacturing site to the final logistics platform.

This phase taken into account the transport of the finished product, including packaging,
to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.
Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Use

Power consumption / not load dependent

Power loss / load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0.160245 30% 0 70% 0 0% 0 0% 0 100%
This corresponds to a total energy consumption of 8.42 kwWh for the use span of 20 years.
Energy model of the use phase :
Europe
Consumables and maintenance :
None
2/5 HAGE-01379-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 52%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.3.0.1-20 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 Ad A5 Ci1-C4
Europe Europe Europe Europe

Environmental impact indicators

5 . Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALA3 A4 | A5 | B1.B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.18E+01 9.55E-05 8.24E-05 1.78E-02 4.46E-03 2.18E+01 -3.05E-02
Climate change - Total (PEF-GWP) kg CO2 eq. 2.13E+03 6.05E-02 5.94E-02 3.40E+00 5.20E-01 2.13E+03 -5.24E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. 8.18E-01 2.48E-07 3.14E-02 7.52E-02 2.44E-02 9.49E-01 -4.62E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 2.13E+03 6.05E-02 2.80E-02 3.33E+00 4.95E-01 2.13E+03 -4.78E-02
CUED E R ED ] i R i kg CO2 eq. 6.86E-03 9.15E-08 2.66E-10 0.00E+00 2.52E-00 6.86E-03 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 1.54E+03 1.76E+00 3.72E-01 5.10E+00 2.94E+00 1.55E+03 -7.51E+00
EF-particulate Matter (PEF-PM) '”;I'gs:g::' 5.67E-05 8.20E-10 4.97E-10 1.40E-07 2.21E-08 5.68E-05 -5.89E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 6.88E-03 2.26E-07 3.79E-07 8.15E-06 5.92E-06 6.89E-03 -3.12E-03
Eutrophication, marine (PEF-Epm) kg N eq. 1.02E+01 1.73E-05 3.48E-05 2.08E-03 2.39E-03 1.02E+01 -1.23E-03
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 1.12E+02 1.90E-04 2.42E-04 3.34E-02 4.91E-03 1.12E+02 -1.59E-02
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.66E-07 1.19E-11 2.52E-09 4.21E-10 9.83E-10 1.70E-07 -5.15E-09
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 1.44E-06 2.26E-10 8.70E-11 9.97E-09 2.59E-08 1.48E-06 -3.63E-07
lonising radiation, human health (PEF-IR) kg Bg U235 eq. 1.93E+01 2.14E-03 4.80E-03 4.45E+00 2.26E-02 2.38E+01 7.97E-04
Land use (PEF-LU) No dimension 1.92E+01 2.59E-04 1.13E-04 9.03E-02 1.02E+00 2.03E+01 -2.55E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 4.38E-06 7.34E-10 3.72E-10 1.46E-08 4.22E-08 4.44E-06 3.04E-09
(P:gl':"_g’gg‘;c)a' ozone formation - human health |\ ¢ \\yOC eq. 2.75E+01 6.14E-05 5.56E-05 6.61E-03 1.46E-03 2.75E+01 -4.87E-03
Resource use, fossils (PEF-ADPf) MJ 3.19E+04 1.07E+00 2.71E-01 8.16E+01 5.33E+00 3.20E+04 -1.31E+00
RSB (S0, TS S e kg Sb eq 3.52E-03 2.16E-08 1.64E-09 1.10E-06 1.55E-06 3.52E-03 -0.38E-05
(PEF-ADPe)
Water use (PEF-WU) m3 eq. 6.97E+01 2.18E-03 2.24E-03 2.58E-01 9.27E+01 1.63E+02 -2.72E+02
Resource use indicators

. Manufacturing Distribution Installation Use End Of Life

Indicators ALA3 A4 | A5 | B1.B7 | c1.Ca | GLOBAL | Module D
Net use of fresh water 1.62E+00 5.07E-05 1.59E-04 6.03E-03 2.53E+00 4.16E+00 -6.25E+00
Total primary energy 3.19E+04 1.08E+00 3.09E-01 1.01E+02 5.79E+00 3.21E+04 -1.88E+00
Total non renewable primary energy 3.19E+04 1.07E+00 2.71E-01 8.16E+01 5.33E+00 3.20E+04 -1.31E+00
Total renewable primary energy 3.26E+01 3.39E-03 3.83E-02 1.91E+01 4.63E-01 5.22E+01 -5.80E-01
Non renewable primary energy used as energy 3.18E+04 1.07E+00 2.71E-01 8.16E+01 5.33E+00 3.18E+04 -1.31E+00
O T CEBIE PIMAR SRSV (S ES (E 1.59E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.59E+02 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 3.19E+01 3.39E-03 3.83E-02 1.91E+01 4.63E-01 5.15E+01 -5.80E-01
Renewable primary energy used as raw material 6.87E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.87E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 8.28E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.28E-02 0.00E+00

PEP ecopassport 3/5 HAGE-01379-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Al1-A3

Manufacturing |

1.42E+01

Distribution

A4
2.53E-04

Installation
A5

1.53E-03

9.40E-02

End Of Life

C1-C4
6.30E-03

GLOBAL

1.43E+01

6.94E-20

1.83E+01

5.61E-03

1.04E-02

5.13E-01

8.99E-04

1.88E+01

2.59E-19

8.46E-03

4.45E-06

1.62E-06

1.21E-04

4.26E-07

8.58E-03

0.00E+00

Al1-A3

Manufacturing |

Distribution

A4

Installation
A5

Cil-c4

End Of Life |

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 3.13E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.13E-03 0.00E+00
Materials for energy recovery 4.23E-03 0.00E+00 2.48E-03 0.00E+00 0.00E+00 6.71E-03 0.00E+00
Materials for recycling 1.02E-01 0.00E+00 2.00E-02 0.00E+00 4.10E-06 1.22E-01 0.00E+00

Biogenic carbon content

Packaging

Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
2.84E-02 4.60E-04 9.28E-03 3.81E-02
Biogenic carbon content (declared unit) 7.94E-03 1.74E-04 3.67E-03 1.18E-02
Biogenic carbon content (functional unit) 7.94E-03 1.74E-04 3.67E-03 1.18E-02

ADEME APESA/RECORD EN 16485

Prod ardboard Pape ood

a 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bo e eclare 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbo e 0 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

PEP-PCR-ed4-2021 09 06
PSR-0005-ed3.1-2023 12 08

Information and reference documents: www.pep-ecopassport.org

. . Drafting Rules
Registration N°: HAGE-01379-V01.01-EN

Supplemented by

Verifier accreditation N°:  VH65
Date of issue: 7-2025

Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01379-V01.01-EN



Appendix

Land use (PEF-LU)

Exported energy - [MJ]

ty, non-cancer (PEF-CTUI
(PEF-ADPe) - [kg Sb eq]

Components for re-use - [kg]
Hazardous waste disposed - [kg]
Materials for recycling - [kg]
Net use of fresh water - [m3]
Total primary energy - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

icil

Materials for energy recovery - [kg]
Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
Total renewable primary energy - [MJ]

=
g
&
T
o
S
T
<
i
w
5
S
]
S
3
5
<

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPT) - [kg CO2 eq]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]

Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADP) - [MJ]

Total non renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Human toxi

Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Non renewable primary energy used as raw material - [MJ]

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

oM

ISP QG LERBEI 2iocor| 2um0s| sssea| 2isen] someos] ooonco] ssieas| someos] 10| 10| ssseos] rimar| swear] sueod] o] sea] woee] soma] seeo] sea] susod soec] wseod] somes] amea| swee] swea| coma| sweo] ssms] swea sweol suea| owes| swsco| suei] oo

S5 -

R LG EVEN - suceas| smseo| zizea] orseos| oweoo] somar| s soaen| sior] romo] sason] smecs] visvon| rsscer] soer| srseon] acacas] rsooo] sssen| suseo] rsseaa] suscor| seos] armer| ruec] ssen| asmeo] sireod] viseod] sured] smorf 2socor] omess| oo saere] amear

5 GKEV02020011 [ [ e [ R e e R R e R R R R R R R T e e

f=4

[} 12021

= (TN 2| oeos| ricor| aszeos| srses| ooneon| soser| ssveos| sozeor| sazeoe| aveos| soreon| orseos| niseos| seon| asmeor| irseos| soseos| asmeoo) soneor| sieos| asecr| sereos| seseos| o] rereos| aveon| asreon| surwos| iseos| sweos| swwos| zoeor| ooeoo| ococo saveoe| amean
(TIPSR 2ueo| 2iee| sieo| zuseos| soreos| oweso| ssiees| soneon| 10omn| sieee| sizeoo| riomr| seseor| sseos| soveer| avoeen| sceoo| soems| scoeeo| sssmen| swes| asomac| smeos| soreos| amsean| soes| swewn| ooseos| swear| sseos| sieas| siear| sweon| oweas| oweao| saee| ssec
[TEVLSREEIE 2veo| 2uee| seo| 2ie0s| soseos| oweoo| s2sees| soieon| 10o0en| siece] sszeoo| riocn| soseor| sueoo| o0er| o] azzeoo| soews| soieeo| men| swme| asoee| soseos| seseos| arsen| roseas| swe| sosees| sieas| ssew| siead| sicar| swea| owes| owee| saeee| swen

B46128 crmar] 2uman] rse] cvme] emsn] coma] som] ewen] iwme] iume] incw] susa] emec] sisco] soma] ssa] irew] wco] s o] simed s e s el reew] sl sxea] e ruee] simed sime] ] o] owse] ssewd] amea

c s

o NEUPEREENE  osee| sonew| saeor| sose| siseon| oooeco| srseco| soneor| srseos| ssueos| ovoeco| ssseos| sasens| somen| suseos| saseos| oweco| oweoo| sorees| seeos| o] oweco| rsei| soveio| saseos| ssseos| swews| oweao| soreeo| zusess| romeao| sosmao| swess| oweao| ommao| osewo| susees

=

=1 207" a

a CTAEVIPLPIIEN  sooeos| ocar| someor| aoco| smreon| omean| raseor| ssocon| uscon| rooeos| omen| soscorf seiaf ssoen| smeos| somor| omeon| omean| awecs| asieos| aseor| oomon| sooeio| ssmeso| asseos| ssomoe| ssocos| oommon| scocor| sweos| sseor| sscor| socos| oommon| ooorcn| oonecn| aseos

=

=

z CTAEVOPNPIIER  socos| 2somae| sooeor| zsomce| smeon| omeon| 7sicer| oseeon| ureos| roreos| omen| soseoe| soicief ssen| swen| soor| omewn| omem| aweos| zseeas| aseor| oomon| soio| swern| asieos| soios| siocos| oommon| sescor| sweon| ascorf sscar| iocs| omeor| ooomen| ooewn| seos
(TEVOPIPINI  soscos| osomoe| eer| osoece| sroeon| ooneoo] rsicar] osseos| areos| rereos| ooveoo| oseos] asieic] osen| sses| soreos] cooeoo] ooneoo] zueos]| osweos| asseor| oooeoo] soeeo] swew| esieos| rsmeos| rseos| ooeoo| ssseor| suseon| assecs| ssseor| raneos| aooo| woomoo| aoweoo oszeos
[TEVLSRPIUIE  osscos| sosewe] 2aeor] sosee] saseon| owonco] s7seco] cosear| srmeos| soneos] ooeco| esseod] sasen| sasero] suecs| csseod] oweco| owedo| sorees| srecs| o] oweas| rseso] snero] caees| soseos| sves| oweas| roreco| zuseo| rorea| sosmao] ssves| oweas| owea| oweco| zuse
[TV REUB osscos| soseor] 2aeor] cosen] saseos] acomco] srseco] sosmwr] srecs] someos] aoeeo] ssmod] suen| saeio] suees] sseo aeeo] oseeo] sorees| sreoo] sormao] asosao] reso] samio] caees| saseos] ssvess] ososao] soreeo] sasmse] soreue] soomao] svess] osoeuo] asoms] ssoso] suses

B46128 soeos| zsewe| sowor| ssewe| smew| owrao| sveos| sweos| raos| soeos| omeo| soseas| sosiz| ssin| sreor| soscor| omeuo| omran| aueos| aseos| sweor| oomeon| soweiof sweiof asecos| smeos| sercos| oomeon| sascor| sweos| ssscor| soocor| rercos| oomeon| ooomon| ooeun| soreos

c . >

S LGSR soco| ssewr| suewr| smecs| saseio| oweoo| sreos| sreor| saseos| seaeos| oweeo| ssseos| sseos| sren| coveos| saseos| saeoo| soewe| sseos| soeo| zmem| oweao| swew| soeio| sesees| sseos| swewe| oweas| amea| sseoo| ameos| soa| soene| oweas| oweao| oweo| zoens

K

= CTAEVOPNPIEN  ooos| sosene| somece| zmece| zoseso| omeon| swear| smeor| smeos| zseor| omem| ssens| aeos| wsoen| areos| wea| zocm| swcn| ssen| ioen| 2wcn| ommw| swen| wen| soco| sea| o] omew| zucaf iwen| ecaf swea| smen| omew| omma| cmew| 2w

1%]

o [ETOEVOPIPITIE  ocicos| soicir| suce] 2oece] 2osmiof omenn| srorf sweor| secos| 2o omewo| ssseas| aseor| aren| oeas] o] zwsas| 2oocie] s o] nen| ommor] smef o] sssof oeof swer] ome| neo| sen| ineo| sweo| swew| omen| soma| cmem| 2o
[N ooccox] soicor] sscce] 2oocoe] 2sseio] ooman] srea] sreor] susecs] 2o comen] ssse] 2sceo] aroes] ases] siseod] swmn] awee] ssoeod] o] 2iew] oomeo] srien] asrein] ssseos] ssrmod] ssee] ooeen] 2riee] rsew] 2mew| smew] swecd] aoeen] soneo] aeeo] 2eiee
(SIS PEUB  ooco| socor] siee] 2mee] comio] aoosco] sroo] smewr] sames] scmon] aoeeo] sswes] smeoe] sren| womes] sieor] sessoo] somee] smeo] sseee] 2| asosso] srsro] asmio] sosses| sossos] sowmie] asoeso| 2mes| sosso] smom| sovees| semie] osocuo] asoeao] asoeno| sue
(CEVPEREEE  soco| soewr| sucoe| smecs| seseio| oweoo| smeos| sreor| seos| zeaeos| oweoo| sseos| zeaeos| smens| coveos| siseos| saeoo| soewe| sseos| soce| zmews| oweao| suem| even| semeos| seeos| swewe| oweas| amea| sseos| ameos| soea| swese| owe| oweao| oweo| zzens

B46128 soeos| sewe| swear| soewe| omes| oweao| soor| soseor| sreos| aweos| omeo| ssseos| ameos| ssen| soeos| sior| aeos| aise| smeo| suew| aoen| omeom| soef ssef sweos| meos| arocoe| omean| zoicor| rem| 2ocn| sweaf swcn| omem| omma| omem| acn
o~

e KAWIAPE o] sucn| o] soe] ool el sucol vicol sueo| ssem| oocm| soce] snel soeol vacel soce] vocol oucw] smo| sun| ol wmeel ol ol o] o] o] corn| vucn| sose| el wmeal ol oweol] soco] oacm| csen

b=
| PRGN osvcos| orico] swe] ssieo] aoeoo] aoomoo] ssieco] 2omeoe]| sseos] ssseos| ooeco] caece] someso] 2sseo] sueo] 2siece] soeco] oweeo] ssews| ssieos| 2wes| oweco] srseco| ssrees| secs| soveas| sseco] oweao] 2es| 2svewr| 2ooen| 2ssm| sseco] oweas] oweao| oweno| see
[EREVIPIIIER  :socco| ancor] sooece] asicor] osen] omen| sicon] 2oosoe] ssseor] ssseon] omeno] ziosie] soero] 2sseon] rean] 2sicar] omeo] omewn| ssieor| o] cwen| omean] seos] soreon] ecor] swecs] wsenn] omenn] coneer] 2ser] coneer] coseor] wsewn] omenn] conmer] omewn] swead
(TSI ossccs| mieor| ssonce| ssicor| oomon| ooomoo| smoo| oveon| ssseor| ssseos| oomeon| zaceoe| ssseiol ssseos| seon] ssiece| ooveoo| ooneoo| ssseos| sieor| zoweos| oomco srseos| sereon| sesecn| soneos| smeoo oowon) soser| zameor| soeen| aseon| ssseoo| aooeoo] ooomco] aooeoo] seseon
(SRR inew| somcoo| 7aiee| swseco| aoocoo| oooeeo| ssoeco| raaeos| zoneos| saiees| awoeoo| scueoe| snseio| someoo| szmeoo| sesecr| aweoo| oweoo| srecs| sseor| wvms| oweas| seos| sseor| seos| sneos| somn| oweas| rsscer| soneos| roscas| oerean| ssomen| owoeas| oweao| oweao| zaen
(TIPSR 1ieee| 2osoo| souee| 2imeco| ooomoo| owomco| ssseco| sseos| smeos| zssee| owoeoo| sisewe| arsero| sozeoo| zoicao| sorece| owoeeo| oweso| soseos| soneor| ssien| oweao| oseoo| siseos| sseas| rorees| sosen| oweas| ssear| roew| sseear| ssean| sosen| oweas| oweao| oweo| 1en
B46128 sseoo| snen| 10| ssieos| oweas| oweao| sieao| zoess| sswas| sseas| omeo| swese| somiof asseos| ruiman| zoewe| oweno| omman| ssss| iseor| cowmon| omes| smeos| ssreon| seocos| soeos| sameon| omenn| coeor| 2wer| 2| cssmor| smen| omenn| oomor| omewn| swccs

O <

WO (NETPESEEINE coco| sueor| suce ascor] ssieo] oweo| soeo) soeos| sses| soco| omew| sxes| osen| ssen| smea| oo ome| soeo| ssea| swea| sseo| oeo| wms| snes| sues| weo| wsen| ooeo| ssea| isen| ssea| snea| wsea| ool oma| owea| omo

— i o

(O NON ML AP CHE  1oseos| 17econ| aseos| 17eor| soaeso| ooomoo| reseor| 2sseos| 7ssmos| reseos| ocoewo| 2eseos| 11serof rareos| wsseos| ssor| oomco| areos| samor| sneos| 2soewo| ooomoo| 2oecs| 1oseos| soseos| sssecs| rereor| oooeoo| 2ssecol 1ueos| 2soeo| 27emoo| rereor| ooseoof oo occewo| saeea

o

g (CTAEVIPLPEIIER  ovecs| aroeon| socas| ameor| sosciof omean| rosor| asseon| rsscor| sovecs| omen| asscon| sieiof sareon| ssseos| soreor| omeo| arocon| sveer| srecos| soseon| oommon| soseos| soscon| aoeor| ssscon| soreor| oommon| poseco| sivcon| sosmon| srercn| soreor| oommon| oooecn| oovecn| sameon
(TSP iose| moeor| ssizs| micor| oweio| ooon| eser| seo| ssco| eses| ooneon| eeseos| iseio| rereon| wsseos| sszeor| ooveoo| ioeos| vireor| sreeos| zseon| ooceoo| eoseos| aoseon| owseos| ssseos| aomeon| ool asmeoo| izeos| asoo ameco| aoreor| oooeoo| ooomeo| aooeoo] soean
(TEVPERPEE  1eos| sueo| 2wewe| ameo| osieo| oweco| 2ooeco| soreos| omeos| ameos| oweoo| sxews| srero| oomeoo| zosewe| roieao| owoeco| srceos| zsomco| soseoa| ssomso| owoeao| scneoo| sovevo| saseas| sonear| ssoeos| oweas| ssomao| ssiens| ssoeas| swmao| ssmeon| owoeas| oweas| owedo| srse
(TSR wocos| svea| 2oee] asseor| 2sieon| oooeco| 2ooeco| soseoo| 2sneos| aseos| ooomco| svews| sosero] ssseoo| saiee| oieco| oooeco| arces| ziveco| soseos| ssomao| oweao| scueco| ziseso| sseas| sonear| asems| oweas| ssoeao| ssies| ssoeao| swsmao| ssmems| oweas| owea| owedo| sre

B46128 soeo| srser| aseas| snees| oowso| owmao| resas| asse] rsea soas| oweno| sosos] simio] rermae| asssos| scesor] oweno| asoson| surar| sreos| csomin| omeun| 2oseon| sosson| soeo] scson] sormar] omewn| csean| sisoe] csenn] erear] o] omens| oomer] omewn] suemn

- [REVOLI BB scscoe] sascor] comos] «mee] aomoo] acomco] rsie00] sazmos] szms] sosee] aeeo] asonco] saseoo] soer] rormos] asseeo] aseeo] asomco] mee] asoeeo] sieao] asoeso] soseoo] sovese] wsrees| asoee] soven| asoeso] o] assms] o] sseo] soi] osoeuo] asomae] asoeno] 2reud

=] 201 a

3 (CTAEVOPNPIIER i roccs| 2oseon| smeor| acmron| omman| oomean| sooon| 2eoe| soseor| roees| omen| oomean| asoeiof aoveon| rsscor| asrmar| omecn| omean| sieor| omewn| smeor| oowan| oreos| oscon| smmcor| oonecn| somenn| oommon| szeor| soscon| meor| 2suron| ssmeon| oomeon| oooran| oovecn| ssmeon

S

= (CTAEVIPIPIIER  soicos| soieon| soos| sooeor| ommon| omeon| 7omer| 2sseon| rameor| smecs| omen| omeon| sieiof ruseon| smess| sweor| omewn| omem| sieor| omew| csmeom| oommon| zovcos| soscon| soreor| oonman| soscor| oomeon| cssean| siecon| cssmon| erean| roscor| oomeon| oonmer| ooewn| sweon
(VPPN rocs| oscor| soies| rocor] ooeon| oooeoo| sumoo] sricos| sseos| 2seces| ooveoo| ooneoo| rseio zsseos| soreos| 2sscor] ooveoo] ooneoo| ozzeor] oooeoo seoo] oooeoo) rsseos| srieo| sreos| vooeoo| 7aseos| oooeoo| s7ieco| aseeos| 1oo| amieoo 7ases| oo ooomoo] aooeoo soean
GKEV02SET29016 [ [ [ R e e e T e N T T T D T Y D I I D e T D T e T e e>
GKEV025ET39016 [ [ [ e e e e e R e N D N I Y D D M M M e DD e e e e e e eee

B46128 raieos| ameo| eweo| voreor| aoeoo oowoo| raieor| aseos| rsieos| ssseos| aveoo| ooopoo| sasens| raseos| saeos| saseor| avoeoo| oooeoo| saveor| avoeoo| asecao| oweco| sosecs| scueos| soseos| owoeco| ssems| oweao| asseao| soneos| zseca| amomao| ssseon| oweao| owoma| omeso| serean

PEP ecopassport 5/5 HAGE-01379-V01.01-EN



